

FURNISHERS

Ref: CHRIS

Mr. Keith Small St James Church Birch Heath Ln, Christleton, Chester CH3 7AP,

24/02/2022

Proforma Invoice

Eton Light Chair- all engraved

Item/Description	No	Unit Price	Cost
Eton Light Chair	56	£175	£9,800.00
Bookshelf	56	£16	£ 896.00
Arms	25	£35	£875.00
Links	56	£8	£ 448.00
Engraving	56	£8	£ 448.00
Bespoke Staining	56	£8	£448.00
Trolley	4	£150	£600.00
Delivery installation and customs documentation	1		£ See end
Total			£13,515.00
Vat @20%			£ 2,703.00
			£16,218.00



Eton Light Chair- 50% engraved

Item/Description	No	Unit Price	Cost
Eton Light Chair	56	£175	£9,800.00
Bookshelf	56	£16	£ 896.00
Arms	25	£35	£875.00
Links	56	£8	£ 448.00
Engraving	28	£8	£ 224.00
Bespoke Staining	56	£8	£448.00
Trolley	4	£150	£600.00
Delivery installation and customs documentation	1		£ see end
Total			£13,291.00
Vat @20%			£ 2, 658.20
			£15,949.20



ICON 40 Chair- all engraved

Item/Description	No	Unit Price	Cost
ICON 40	90	£152	£13,680.00
Bookshelf	60	£12	£ 720.00
Arms	40	£35	£1,400.00
Links	NA	NA	Built in
Engraving	90	£8	£ 720.00
Bespoke Staining	90	£8	£720.00
Trolley	2	£260	£ 520.00
Delivery installation and customs documentation	1		£ See end
Total			£17,040.00
Vat @20%			£ 3,400.00



ICON 40 Chair- 50% engraved

Item/Description	No	Unit Price	Cost
ICON 40	90	£152	£13,680.00
Bookshelf	60	£12	£ 720.00
Arms	40	£35	£1,400.00
Links	NA	NA	Built in
Engraving	45	£8	£ 360.00
Bespoke Staining	90	£8	£720.00
Trolley	2	£260	£ 520.00
Delivery installation and customs documentation	1		£ See end
Total			£16,680.00
Vat @20%			£ 3336.00



Bespoke Staining

Bespoke staining to match is an additional cost and will add in general a further 2 weeks to the lead-time of 12 weeks.

Delivery & Customs Administration

£680 + Vat

Deposit & Vat

Vat is payable just before delivery and so is not included in the deposit requirement. 50% is therefore due on the Pre-Vat total amount.

The remaining 50% is payable prior to delivery.

Our Bank Account Details are as follows: Account Name: Dunview Limited T/A ICS Furniture

Vat No. IE4814904T

AIB Sterling Branch St Helens 1 Undershaft, London EC3A 8AB

Sort Code: 23-85-90- Account Number: 04772-085 BIC: AIBKGB41UND

IBAN:GB25 AIBK 2385 9004 7720 85

Cheques: Cheque payments to be made payable to Irish Contract Seating